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1 The table gives information about the heights of 150 students.

\
Autumn 2017 Paper 2 Q17

Height (2 cm) Frequency
140 < h < 150 15
150 < h < 155 30
155 < h <160 51
160 < h < 165 36
165 < h < 180 18

(a) On the grid, draw a histogram for this information.

A

(b) Work out an estimate for the fraction of the students who have a height between

150 cm and 170 cm.

A 4

(&)

(Total for Question 1 is 5 marks)
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Summer 2017 Paper 2 013
2 The histogram shows some information about the ages of the 134 members of a sports club.
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20% of the members of the sports club who are over 50 years of age are female.

Work out an estimate for the number of female members who are over 50 years of age.

(Total for Question 2 is 3 marks)
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3 The histogram shows information about the times taken by some students to finish a puzzle.

N\
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Frequency

density

0 10 20 30 40

Time taken (¢ minutes)

(a) Complete the frequency table for this information.

50

Time taken (¢ minutes) Frequency

0<t<5s 4

S5<t<15

I5<t<25

25 <t <30

30 <t <50

\ 4

60

2
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(b) Find an estimate for the lower quartile of the times taken to finish the puzzle.

(Total for Question 3 is 4 marks)

minutes




www.yesterdaysmathsexam.com

7

Summer 2019 Paper 3 021

4 The histogram gives information about the distribution of the weights of some onions

grown by a farmer.

10

Frequency
density

v
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Weight (grams)
Onions less than 60 grams in weight are used for pickling.

Onions greater than 120 grams in weight are sold at the market.
The rest of the onions are sent to a food processing factory.

N\
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A pie chart is drawn using the information opposite to show what the farmer does with

the onions he grows.

used for
pickling

sold the food
at the processing
market factory

sent to

o]

The angle of the sector for the onions sent to the food processing factory is x°.

Work out the value of x.

X o

(Total for Question 4 is 4 marks)
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5 The histogram gives information about the distances 80 competitors jumped in a long
jump competition.
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Calculate an estimate for the mean distance.

(Total for Question S is 4 marks)
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6 Some people took part in the first round of a competition.

The histogram gives information about the scores of these people in the first round.

A
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20% of the people got a score high enough for them to qualify for the second round.

Work out an estimate for the score
You must show all your working.

needed to qualify for the second round.

(Total for Question 6 is 4 marks)
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7 The table shows information about the distances 570 students travelled to a university
open day.
Distance (d miles) Frequency

0<d<20 120

20 <d <50 90

50 < d <80 120

80 < d < 150 140

150 < d <200 100

(a) Draw a histogram for the information in the table.

a

\ 4

0 50 100 150 200 250
Distance (miles)

€))

(b) Estimate the median distance.

(Total for Question 7 is 5 marks)
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8 The histogram gives information about the heights, in metres, of the trees in a park.
The histogram is incomplete.
V'
4
Frequency
density
0
0 10 15 20 25
Height (metres)
20% of the trees in the park have a height between 10 metres and 12.5 metres.
None of the trees in the park have a height greater than 25 metres.
Complete the histogram.
(Total for Question 8 is 3 marks)
. J
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9 The table shows information about the weights, in grams, of some potatoes.

Weight (w grams) Number of potatoes
50<w< 70 20
70 <w < 80 50
80 <w <90 60
90 <w < 110 30

On the grid, draw a histogram for this information.

A

Frequency

density

>
40 50 60 70 80 90 100 110 120

Weight (w grams)

(Total for Question 9 is 3 marks)

\
Autumn 2022 Paper 1 Q14
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10 The table gives information about the distances, in miles, that some Year 10 students

live from school.

Distance (d miles) Frequency
0<d< 1.0 90
10<d< 15 48
1.5<d<20 22
20<d<3.0 8
30<d <50 12

(a) On the grid, draw a histogram for this information.

A
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The histogram below shows information about the distances, in miles, that some Year 11
students live from school.

A

Frequency
density

|
0 1 2 3 4 5
Distance (d miles)
The number of Year 11 students who live between 1 and 2 miles from school is 7.
(b) Find an expression, in terms of #, for the number of Year 11 students who live
between 3 and 5 miles from school.
()

(Total for Question 10 is 5 marks)






